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Show all of your work
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Math 102 Test 2
4. Only one of the following is FALSE:

page 3

(3 points)

/a’ The average value of the funct|on fix) = x* on [-2,2] is equal to

3 75165l
7( XX +f) can be put in the form _2 + x+2
[//c —a’x is convergent
v d. The following identity sin’x = 5- — 2 cos2x is correct
i/ e Theintegral jmdx can be solved by assuming x = sin
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5. Find the surface area generated if the curve y=coshx , 0 <x<1is
revolving about the x— axis. NE tm(k\,\ 1(4 points)
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8. Isinzxiosiﬁx—Z dx =S O(JM_(%K points)
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9. Set up the integral (do not evaluate) to find the volume of the solid (by shell
method) genarated if the region bounded by y=1Inx, y=0 ,and x=e is
revolving about x— axis. (3 points)
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10. Find the volume of the solid genarated if the region bounded by

y=x*-3x+2,and y=0 isrevolving about y-— axis. (4 points)
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13. Find the arclength of the curve y = ¢* from x=0 to x=1 (4 points)
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